107%g

(0 ¢) (rad)

=
S
w

1074k

a(d cot(d))

1 2

3

TP n (PCA to beamline)

o 1
IS
24
0.5
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__CMSSW_ckfPU50__RECO
—— DQM_V0001_R000000001__Global__CMSSW_mkFitPU50LowPtQuad__RECO
—+— DQM_V0001_R000000001__Global__CMSSW_LowptQnoclean_ RECO
= : —
= I S U SR S 1]
) . o
2 ; °e
-~ . s . | . -~
> SRR i | SEEEEEEEEE B Rl B R R -
> |
=2 1 e
35 5

=
<
N

1072

o 4:....!....!....!....!....!.... .910:_%:....!....!
g sf : g 12f }
T e :%
L e EE R R -1

o p/p.)

N
I

TP n (PCA to beamline)

1 2

3

TP n (PCA to beamline)



	Contents
	Page 1


